


Question 1 

Indicate if the following is True or False 
 

The least common denominator (LCD) of 
1

6𝑎2  and 
1

4𝑎𝑏3  is 2𝑎𝑏 

 
A. True  

 
B. False  
      
 
       



Question 2 

Indicate if the following is True or False 
 

The least common denominator (LCD) of 
1

𝑥−2  
 and 

1

𝑥+2 
 is 𝑥2 − 4 

 
A. True  

 
B. False                         



Question 3 

Determine the LCD of these rational two expressions 
 
 

 
A. 
 
B. 
 
C. 
 
D. 
 
 
 
 

   6 3 1x x x  

   1 3 6x x x  

   6 1 3x x x  

   6 1 3x x x  

2

1

 7   6x x  2

1

 4   3x x 



Question 4 

Perform this operation and express the answer in the simplest form 
 
 
 
A. 
 
B. 
 
C. 
 
D.                      
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Question 5 

Perform this operation and express the answer in the simplest form 
 
 
 
A. 
 
B. 
 
C. 
 
D. 
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Question 6 

Perform this operation and express the answer in the simplest form 
 
 
 
A. 
 
B. 
 
C. 
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Question 7 

Perform this operation and express the answer in the simplest form 
 
  
 
 
A. 
 
B. 
 
C. 
 
D.                     
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Question 8 

Perform this operation and express the answer in the simplest form 
 
 
 
 
A. 
 
B. 
 
C. 
 
D. 
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Question 9 

Perform this operation and express the answer in the simplest form 

2𝑥 + 
𝑥

𝑦
 

 
A.  
 
 
B. 
 
 
C. 
 
 
D.  
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Question 10 

Perform this operation and express the answer in the simplest form 
 
 
 
A. 
 
 
B. 
 
 
C. 
 
 
D. 
 
                      

   
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